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QUESTION 1

In which scenario does the Applications DBA need to run the Rapid Clone utility?

A. There are two systems (Test and Production) for XYZ company. There are invalid objects being encountered in the
Production system. The errors are not happening on the Test system.The Applications DBA plans to run the Oracle
utility on the Production system to fix the invalid objects.

B. ABC company has three systems: Development, Test, and Production. Testing of the Oracle Applications patches
are being done on the Test system and being promoted to Development for further testing. After the patches are tested
in the Test and Development systems without any issues, they would be promoted to the Production system. The
Applications DBA plans to run the Oracle utility for the promotion of the patch.

C. There was a hardware disk failure on the Development server. The Development system was being used to test the
application patches. The POIUY company has only two systems: Development and Production. As soon as the
hardware disk failure is resolved on the Development server, there is a need to rebuild that Development system. The
Applications DBA plans to run the Oracle utility to rebuild the Development system.

D. There is a need for another Oracle Applications system to test the patches to be applied on the Production system.
Currently, QWERT company has five Oracle Applications systems including Production. The Production and Test
systems are on Release 12.2.10 and the remaining systems are on Release 12.2.9. The Applications DBA plans to run
the Oracle utility on the Test system to test the patch.

Correct Answer: C

QUESTION 2

Your patch was applied and finished without encountering any error during the process. Which is NOT a correct part of
the postpatch process?

A. updating the MLS

B. removing any obsolete files

C. restarting all server processes

D. cleaning up the log, restarting and out directories

E. pinning packages and sequences in the System Global Area

F. performing any manual steps on the basis of readme.txt of the patch

G. using the Change Maintenance Mode option of AD Administration to enable maintenance mode

Correct Answer: G

QUESTION 3
Identify the formula based on which AD utilities provide the default number of workers.

A. 2 * (the number of CPUs on the database server)
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B. 2 + (the number of CPUs on the database server)
C. 2 * (the parallel_max_servers initSID.ora parameter in the database)
D. 2 + (the parallel_max_servers initSID.ora parameter in the database)

Correct Answer: A

QUESTION 4

Identify four scenarios in the Oracle Applications R12 E-Business Suite environment in which you would need to run
AutoConfig. (Choose four.)

A. after relinking product libraries

B. after restoring a previous configuration

C. after registering products and languages

D. after using AD Splicer to add a product to the existing stack

E. after adding a new variable to the existing context parameters

F. after using the Oracle Applications Manager (OAM) shopping cart

Correct Answer. BCDE

QUESTION 5

You run a report that generates output in PDF format. The report completes with the error "REP- 3000: Internal error
starting Oracle Toolkit." How will you resolve this?

A. Set up the DISPLAY environment variable in .profile of the database user.

B. Set up the DISPLAY environment variable in .profile of the application user.

C. No DISPLAY settings are required. Shutting down and restarting the services under APPSTier will fix the issue.
D. Set up the DISPLAY environment variable in adovars.env to point to an active X Windows.

E. Set up the DISPLAY environment variable in $CONTEXT_FILE of the database tier to point to an active X Windows,
and then run AutoConfig.

F. Set up the DISPLAY environment variable in SCONTEXT_FILE of the application tier to point to an active X Windows,
and then run AutoConfig.

Correct Answer: F
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